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SN 2HUEANYD
M 2oz 2L
CHelr 23 Qe P& U BEX |4 (el @2)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEetorg st MA XA 100,000
oAz X2 45,000 45,000 0
308 XXM SOl A 45,000 45,000 0
01 IXNHHBNEES 45,000 45,000 0
OX2EM2 A2 45,000
Sggsa HEg N 4,112,000 3,500,000 612,000
Xl 2,350,000
< 1,762,000
403 Mt S E X201 & 4,112,000 3,500,000 612,000
Xl 2,350,000
< 1,762,000
01 X SHHX2E= 4,112,000 3,500,000 612,000
O2e Xl SFA=22 AHE 4,112,000
Xl 2,350,000
< 1,762,000
oot 2 I st 300,000 300,000 0
Xl 300,000
403 XS H S0l & 300,000 300,000 0
X 300,000
01 HXSHMA=LE X 300,000 300,000 0
OAMOIH ADIE =22 25 300,000
Xl 300,000
SECMR HEY X3 (2H) 4,200,000 525,000 3,675,000
Xl 2,400,000
< 1,800,000
403 MtXISHHE X201 & 4,200,000 525,000 3,675,000
Xl 2,400,000
< 1,800,000
01 XS M A=2EE 4,200,000 525,000 3,675,000
Oz=&8Xd A2 & 23ty HE 4,200,000
Xl 2,400,000
< 1,800,000
st 9ZCelor Hotma 24 2,500,000 600,000 1,900,000
J| 1,900,000
< 600,000
403 A X EHHS =0l A 2,500,000 600,000 1,900,000
J| 1,900,000
= 600,000
01 X EHHMA=E L 2,500,000 600,000 1,900,000
Osts YZSet0F Hiota =4 2,500,000
J| 1,900,000
< 600,000
SEEAR HEY NA(MEF) 350,000 0 350,000
X 200,000




SN 2N
M. 2sls 2L
CHelr 23 Qe P& U BEX |4 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
== 150,000
403 XX S M S X201 A 350,000 0 350,000
Xl 200,000
= 150,000
01 MXHAMAHEBE = 350,000 0 350,000
OANEFT AZA BEE2EMH2 HY 350,000
Xl 200,000
o= 150,000
230z JIEAE XM 2,100,000 0 2,100,000
Xl 1,200,000
& 900,000
403 XX S M S K201 A 2,100,000 0 2,100,000
Xl 1,200,000
o= 900,000
01 AIXISHM A28 X 2,100,000 0 2,100,000
OZsH 2 HE 2,100,000
Xl 1,200,000
= 900,000
AT, HASAIE STHHAIS (HA) 250,000 0 250,000
Xl 250,000
308 AXISHXSOoIH 250,000 0 250,000
Xl 250,000
01 AXHNBMNEXZ 250,000 0 250,000
OFF S22 EsHMAIY 250,000
Xl 250,000
MHTT, HASAL ST (XHE) 1,650,000 0 1,650,000
Xl 1,650,000
403 XX S M S X201 A 1,650,000 0 1,650,000
Xl 1,650,000
01 MXHNMAHEBE = 1,650,000 0 1,650,000
OFF =821 2STHMAIE 1,650,000
Xl 1,650,000
SR BESEE 18,003,285 19,000,850 N 997,565
= 8,151,278
Dl 1,079,926
& 8,772,081
SR AS B0 JiX| &S 18,003,285 19,000,850 N 997,565
= 8,151,278
Dl 1,079,926
& 8,772,081
2IIXNE S L SE2FM ExFH & 6,363,498 8,060,525 N 1,697,027
= 5,146,410
& 1,217,088
403 XX S M S X201 A 6,363,498 8,060,525 N 1,697,027
= 5,146,410




A 230l=4t
Hu: SHRN HSPE
el EetRate EE0 OIX E& (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 1,217,088
01 XM A2E X 6,363,498 8,060,525 A 1,697,027
O=ItXNE 23t 2=+=&tl 6,363,498
= 5,146,410
< 1,217,088
SIKNE 2 L SER2M E-FH XN (HHD| 197,565 172,550 25,015
ag)
= 162,700
= 34,865
403 XAXISHHM S K201 A 197,565 172,550 25,015
= 162,700
< 34,865
01 XXM A2E = 197,565 172,550 25,015
O=NXE ddI|gsE g2+ 197,565
= 162,700
< 34,865
INXNEZM & SESIMN E=FHH N2 (g5 37,500 559,500 A 522,000
o)
= 25,000
< 12,500
403 XAXISHM S X201 37,500 559,500 A 522,000
= 25,000
< 12,500
01 XXM A2E = 37,500 559,500 A 522,000
O=JHNE 23 L2 IAd 37,500
= 25,000
= 12,500
ZIXNE 23 L SES2AMM E+=FE NS (=I40 136,458 119,203 17,255
o)
= 136,458
403 XXM S A201 A 136,458 119,203 17,255
= 136,458
01 XXM A=2E = 136,458 119,203 17,255
O2MXE 3t =201l 136,458
= 136,458
SHIEX E3M 23| 3,684,000 3,684,000 0
202 oddl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OEXdE 23N 2Tl A 0Hl 6,000
403 MM E X201 & 3,678,000 3,678,000 0
01 X SHHM A28 X 3,678,000 3,678,000 0
OEXE Z3M 234l 3,678,000
S8 =X ¢ - 244 72,000 0 72,000
403 XXM s X201 72,000 0 72,000




2N 20z oS D
Hu: 23R4 HS2E
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 XIS A2 X 72,000 0 72,000
OEXNE SE2o &= - HHAE 72,000
CXA 23t 22244 250,000 0 250,000
403 XX SHHS K20 & 250,000 0 250,000
01 XIS A2E X 250,000 0 250,000
OEXNHE2IMN 2= 24l 250,000
HEAE B4 AY| 1,779,000 2,949,180 A 1,170,180
= 1,186,000
o=} 593,000
403 XX S M S X201 & 1,779,000 2,949,180 A 1,170,180
= 1,186,000
= 593,000
01 XIS A2E X 1,779,000 2,949,180 N 1,170,180
ONEAMNE E2HH| 1,779,000
= 1,186,000
& 593,000
SXNAE2SM =J101¥ D] 99,800 97,467 2,333
403 XX SHHS K20 & 99,800 97,467 2,333
01 XIS A=2E X 99,800 97,467 2,333
OEXAE 23tM =Jt01g D] 99,800
SHESHMH BHHAIX & 50,800 51,100 A 300
308 XHXIGH SO0l & 50,800 51,100 A 300
01 AIKISHHENEXZ 50,800 51,100 A 300
OFRE 23 M SHEAF XA 35,800
OHMb53 E=2LEE3HM SIS A 15,000
L2 IS 223,500 222,900 600
308 XAHXIEHMSOIA 223,500 222,900 600
01 AIXSHMENMNEX= 223,500 222,900 600
LE2M S 223,500
SSSESSAHAP L S=UH3 M= 7,500 7,500 0
308 XAHXIGHSO0|& 7,500 7,500 0
01 AIKISHHEBEMNEXZ 7,500 7,500 0
O=E=SEe¢ERAHP st=Wsl M= 7,500
TANEHE M SIHEHALE 234,260 230,220 4,040
308 MXISHMSOIA 90,260 86,220 4,040
01 HXHHIMNEEXTZ 90,260 86,220 4,040
OEXAE 23 SMHEH SA2e 90,260
403 XX SHS K20 & 144,000 144,000 0
01 XIS A2E X 144,000 144,000 0




2N
X ZH -
L= B
el

230l =&t ot
TR dsEE
ZotFM EEN X FE

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OEXEE23M 8 IHAd A 144,000
=S St ABIR HIX & &2 220,539 212,706 7,833
J| 147,026
= 73,513
308 XAHXIGHHMSO0|& 220,539 212,706 7,833
J| 147,026
& 73,513
01 HXHHIMNEXS 220,539 212,706 7,833
O23tM etdAH & X & &2 220,539
J| 147,026
o= 73,513
SXNE23 M M JF=(eHEA 129,500 93,000 36,500
308 AMXIESHMSOIA 129,500 93,000 36,500
01 AIXSHMENEXZ 129,500 93,000 36,500
OZXNHE2M SAHA JIZ=(0H) &M 129,500
23t HHEXAIE 2= 312,500 215,536 96,964
J| 235,000
& 77,500
403 XX SHHS K20 & 312,500 215,536 96,964
J| 235,000
== 77,500
01 XIS A2 X 312,500 215,536 96,964
O2JIXE 25t e ad &X 312,500
J| 235,000
= 77,500
S E2F& AR 22l ] 13,000 13,000 0
201 LBt Y| 13,000 13,000 0
01 AP 22| d| 13,000 13,000 0
OgBtE A= 2| 13,000
ZIXNE2SM SBHAIE S22 X 174,250 119,000 55,250
J| 143,500
= 30,750
308 XHXI IS0l 174,250 119,000 55,250
J| 143,500
= 30,750
01 IXHHINMNEEXTZ 174,250 119,000 55,250
OZ2INE23M SMHAIE X2 XA 174,250
J| 143,500
& 30,750
KAS AL OIZSHAL XS 1,400 1,400 0
J| 1,400
308 XX G SOl A 1,400 1,400 0
J| 1,400




AN 230l= 4 L
Hu: 23R4 HS2E
& 2R BEEY JIX F= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 1,400 1,400 0
OXte 3o QI8 AL 1,400
J| 1,400
R4 2EAY 115,000 212,250 297,250
307 21201 A 50,000 0 50,000
05 RIZt2IE = 50,000 0 50,000
ORsR4 2EAY 2LUHEY L & 88 50,000
308 MXIEHSOIH 65,000 212,250 A 147,250
01 HXNHHNBHELS 65,000 212,250 A 147,250
OFstz it 2EAY 65,000
NS OFSA 232 16,000 16,000 0
308 AXIEHSOIA 16,000 16,000 0
01 HIXNHHNBMNELS 16,000 16,000 0
OXSOtES A &2 16,000
EM s=7 XA 250,000 200,000 50,000
307 glz2+ol & 250,000 200,000 50,000
05 RIZt2IE = 250,000 0 250,000
O== 2t 2 HE 250,000
E}MSS ALY 1,106,000 1,358,273 A 252,273
J| 553,000
= 553,000
307 21201 A 1,106,000 1,006, 164 99,836
J| 553,000
< 553,000
05 RIZt2IEt = 1,106,000 0 1,106,000
O=ZstM =AY 1,106,000
J| 553,000
< 553,000
dns2 2435 X 46,400 76,415 A 30,015
= 32,000
< 14,400
308 XX EHSOIA 46,400 76,415 A 30,015
= 32,000
< 14,400
01 HIXNHHBMNEELS 46,400 76,415 A 30,015
SEESM drus2 B3H3 MY 46,400
= 32,000
< 14,400
g | 2el 124,500 124,500 0
403 MtXISHH S0l & 124,500 124,500 0
01 XM A=2EER 124,500 124,500 0




2N
X ZH -
L= B

el

230l =&t ot
TR dsEE
ZotFM EEN X FE

SA - BB B () - MM - BES Ol &t o San HmEET
Ogn KX 2eltl 124,500
NAH =& ST 45,000 75,625 A 30,625
= 15,000
< 30,000
308 XXM SOIA 45,000 75,625 A 30,625
= 15,000
< 30,000
01 IXNHHBANEES 45,000 75,625 A 30,625
Ogt=2 HSLAL MAHIR L ST 30,000
OMARL BEE=SS AKX 15,000
= 15,000
(MEH=C2SMA2AX 2 40,000 40,000 0
306 ¢ 32 40,000 40,000 0
01 &3 40,000 40,000 0
OFsMHETH iz XA 40,000
EXE 23 Il A 80,000 0 80,000
307 21201 A 80,000 0 80,000
05 RIZt2IE = 80,000 0 80,000
OEXNZE2aM ZIIXZA 80,000
MMBEIH ALY 152,250 0 152,250
= 87,000
< 65,250
308 MtXIEHSOIH 152,250 0 152,250
= 87,000
< 65,250
01 HXNHHBHELS 152,250 0 152,250
OFSHEE =AY MHUE23TH 152,250
= 87,000
< 65,250
g M3 23 28 At 159,600 0 159,600
= 106,400
< 53,200
308 XX EHSOIA 159,600 0 159,600
= 106,400
S 53,200
01 HIXNHHNBNEES 159,600 0 159,600
Odltsrs SuNE 2EAY 159,600
= 106,400
< 53,200
2t OrgH=Z =08 At 525,000 0 525,000
= 350,000
< 175,000
308 XX HMSOIA 525,000 0 525,000




AN 230l= 4 L
Hu: 23R4 HS2E
& 2R BEEY JIX F= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 350,000
< 175,000
01 IXNHHBNEES 525,000 0 525,000
O=stM otdZ=z 08 AtY 525,000
= 350,000
< 175,000
HSLAIZ2S T 2EAY 142,500 0 142,500
= 95,000
< 47,500
308 XX EHHSOIA 142,500 0 142,500
= 95,000
< 47,500
01 AXHHILEES 142,500 0 142,500
ONSLAIZS S A 142,500
= 95,000
= 47,500
HEAME ETHAAY” 2= 1,099,500 0 1,099,500
= 733,000
< 366,500
403 X SHHSA=0l& 1,099,500 0 1,099,500
= 733,000
< 366,500
01 HIXESHMA2E X 1,099,500 0 1,099,500
OFSAHE ETHAIAE] 2= 1,099,500
= 733,000
< 366,500
HSAE ETHALAE SXES 114,465 0 114,465
= 76,310
< 38,155
403 MHXISHHE X201 H 114,465 0 114,465
= 76,310
< 38,155
01 XS M A=2EE 114,465 0 114,465
OESAHE ETHAIAE RAE+ 114,465
= 76,310
< 38,155
HE2AZH (230 t) 90,271 87,271 3,000
Jl23&dl 90,271 87,271 3,000
JlE2&tl 90,271 87,271 3,000
201 Let2d] 20,401 20,401 0
01 At 22l 20,401 20,401 0
OJle+=EHl 8,326
OJlEs gl 12,075
202 044l 43,470 43,470 0

_20_
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